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senflgLd / MATHEMATICS

(D wHmb <hidle eyl / Tamil & English Version)

gre Siema] : 3.00 wenfl Cryw ] [ Qurés wHiGuarser : 100
Time Allowed : 3.00 Hours ] [Maximum Marks : 100

Silejemraen : (1) Simansg elammssEnh flurs o&eU uleurdl o erersm 6T GUTLIS 60 &0
sflurisgs Qararerayd. ésludald GopWmula Sons
samsresfliurerfiLb o Langwrs Ggflefsseaw.

2 Beon Soegy smLYy ovlea LLEGCL FWIHUSHEGL
< 5CsTy faushHEL LwaL(ss CauamBb. ULRSET uemFausDE
Quetdled LweTLHSSeLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

Gy : @Gﬁéﬂmn‘&,gﬁm BesE UGHsmer Careamg).

Note : This question paper contains four parts.

U@l - I /PART -1
@iy : () Siwegg elamssase elorueissa. 14x1=14

() Osr@ssiiu(erar wrHmn elentsafle) Wased gpuemLw e ulenans
GCsimpOs(hssidE GHULGLer elamLuleeanbd Ceigsl er(pseyL.
Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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n(AxB)=6 wHmb A= (1,3} erafled, n(B) A :

(=1)1 ()2 (@) 3 () 6
If n(AxB)=6 and A=(1, 3}, then n(B) is :
(@) 1 (b) 2 - (c) 3 (d) 6

f:A=B @ye1m @mupé smiy wpmb n(B)=7 erafld, n(A) Qa5 :

(=) 7 (<4) 49 (@) 1 (rF) 14
If f:A—B is a bijective function and if n(B) =7, then n(A) is equal to :
@ 7 (b) 49 (© 1 (d) 14

1 05 10 auenmeTer (Qrem() erams(Enb 2.1 L) Simansg) eramsarmaib aEUBLD
Be&fHlw erew :

(1) 2025 (<) 5220 (@) 5025 (rF) 2520
The least number that is divisible by all the numbers from 1 to 10 (both inclusive) is :
(@) 2025 (b) 5220 (c) 5025 (d) 2520

R &L (s dsrii auflesde 31 2 MULSET 2 eTeTen. g6 16 -eug 2 ML
m erafld), SiBss sl (s Qs auflensuded 2 erer ereer e piLsatlen sBse :

(=) 16m (@)62m (@) 31 m (") 2 m

An A.P. consists of 31 terms. If its 16t term is m, then the sum of all the terms of this A.P. is :

(@ 16m (b) 62m () 31m (d) 5 m

464 -0 (PP UITESHLOTE wrHn WereumeuareudmeT eransd dnl L Ceuam(Hid ?

(o1) 82 (a3) 164 @) 82 (") -8
Which of the following should be added to make x* +64 a perfect square ?
() 4 b) 162 () 82 @ -8x2
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gy Gl SN 601 QUENY LD G e S GLD.
160 'l - T GHETUILD
(con) GpidGan®  (w,) @1litb (@) ureua@emD () 2plLTe
sraph of a lincar equation isa
(a)  straight line (b) circle (c) parabola (d) hyperbola
Q.8 erafle,

AABC -ufléd DE||BC, AB=3.6 @a.18, AC=24 Q.18 wppid AD=2.1
AL -uflenr femb

(1) 14 Qb (<)) 1.8 Q1B (@) 1.2 Qa1 () 1.05 Q.5
If in AABC, DE||BC, AB=3.6 cm, AC=2.4 cm and AD=2.1 cm then the length of AE is :

(a) 14 cm (b) 1.8 cm () 12cm (d) 1.05 cm

alLser Qaafliypis Lerefluled ®ps) AULLSHDG TESHME QzrHGsTH ST

QUEnTIWIEMD ?

(1) Genp () @reav(®

(@) waaupp erermenfl&ans (7) R@wL

How many tangents can be drawn to the circle from an exterior point ?
(a) One (b) Two

(c) Infinite (d) Zero

(=5, 0), (0, —5) wHYL (5, 0) AW yeraflserTed Sidw&EsLIUHL W&ECaTamdder
Loy

(21) 0 & SIOGEET (<2}) 25 &. DleGSer

(8) 5 & Slw@sET (/) 10 & SjGSeT

The area of triangle formed by the points (—5, 0), (0, —5) éﬁd (5, 0) is:

(@) 0 sq. units (b) 25 sq. units

(¢) 5 sq. units (d) 10 sq. units
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10. x=a tand WHMID y=b sech erafled,
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@ L-5-1 o L1 @ et @ TR

11. 4Qs.8 2wpapd, 10 Qe.18 @iy ol Lapd AsTam g Chiau L 2 peneruder

cuemeTLIFLIL :
(21) 40 7 8IT S GseT (<2p) 20 ™ EGIT DADGSET
(8) 14 7 s8I D@ GsET () 80 m &8I SAVEGSET

The curved surface area of a right circular cylinder of height 4 cm and base diameter 10 cm is :
(a) 40w sq. units (b) 20 w sq. units

(c) 14 7 sq. units (d) 80 7 sq. units

12. &swwrer S LD WHDHD 2 WFD 2Ll @F 2 (HEneT, @) iDL WHMIWD @
Gararsdlen sar e saflen eldlsw :

(=) 142:3 (4)2:1:3 (@) 1:3:2 () 82142

The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same diameter
and same height is :

(a) 122:3 (b) 2:1:3 (€ 1:3:2 (d) 3:1:2

13. Qsr@ésiulL wiiysaild aaa @ Henssuler flapssars Qmes wigwng ?
(1) 0 (<) 0.5 (&) 1.05 () 1
Which of the following values cannot be a probability of an event ?

(@ 0 ®) 0.5 (© 1.05 d 1
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e

@(_’D'Jlllﬁ'ﬁ”""m Jﬁﬁ-lbpﬂ.m 3 crafléy, x -@en whHimeng

(e24) 2 (et) 1 (@) 3 (/F) 1.5

2
The probability of getting a job for a prerson is ; _ If the probability of not getting the jobis 37

then the value of 2 s

(a) 2 b 1 (¢) 3 (dy 1.5

u@® - 11/ PART - 11

@PuY @ aeaGweayn 10 derrsaEns@ oL walssan. dlar aras 28 -85

slLmwwns e weallasab. 10x2=20

Note : Answer any 10 questions. Question No. 28 is compulsory.
15. AxB={(3,2), (3,4), (5 2), (5 4)) evafled, A HOID B -0 Sraws.

If AXxB={(3, 2), (3, 4), (5, 2), (5, 4)) then find A and B.

16. f(x)=3x-2, g(x)=2x+k wpmid fog=gof erafler, k -Ger wHloLS sTETE.

If f(x)=3x-2, g(x)=2x+k and fog=gof, then find the value of k.

17. aPxb?=800 erenpeunm Senwujd Q@ Wems WpWssem ‘a’ LHMID b -RE STETS.

‘a’ and ‘b’ are two positive integers such that al xb?=800. Find ‘a’ and ‘b’.

: 412y 6xz°

18. &M&ES X
BH5G 222 20y
4:21; 6xz°

Simplify : Ay
L T
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21.

22.

23.
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Qeau(md G)(HUlGE FLOGTLITL I 6 epiisenan s (o6 wHDIb QUHSEDLIE &Tems.
x2+8x—65=0

Find the sum and product of the roots for following quadratic equation.

12+ 8x—65=0

o wallsar 18 5 HysGs eeanp) Qeneni 24 B cu_&6Gs Qewdlprer. Qzm_dss
Herouldmps el QmeEo Qsrenaeneud Hrams.

A man goes 18 m due East and then 24 m due North. Find the distance of his current
position from the starting point.

A(-3,9), B(a, b) wpmib C4, —5) erenian @ Cam_emwps yereflger wHmb a+b=1
erafled, a HMID b -uder wELIMLIE STEms.

If the points A(—3, 9), B(a, b) and C(4, —5) are collinear and if a+b=1, then find a and b.

-5 o5 s B
(1, 2) eremp Yemafl eufl Gedeugd, smie) —~ e-@Lwgwrar CmiréGamL_ig.eom

FLOGTUTL_ D& STETs.

| ~3
Find the equation of a straight line which has slope T and passing through the point
(=1; 2.

S = cosech + cotd ereiTLIENG ﬁl@lﬂé;&;sql_b_
1 — cosB
Prove that e = cosecO + cotf.
1 — cosf
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UOUUTUUS &g P Slg(ugiiy 1386 6.8 erafld, igan CLTSsU

If

the base area of . )
a hermgphencal solid is 1386 sq. metres, then find its total surface area.

o WD 2 1 wpm; oo ;
. PPOID g gl 250 g8 QereRTL_ gif 2 (FEnETUIET HET SETENGS STENTSE.

Find the vol :
olume of cylinder whose height is 2 m and base area is 250 sq. m.

O&ThEsuuL_L Sreyll qmaﬂ&@gj;@ afée whmib 5656081 Y HueDDE STETS.

25, 67, 48, 53, 18, 39, 44

Find the range and coefficient of range of the following data :

25, 67, 48, 53, 18, 39, 44

S CBLLTeRmg & (leap year) 53 saflsflpaoser HenLiLgnarer apssa erarear ?

What is the probability that a leap year selected at random will contain 53 Saturdays ?

23 wpmib 12 yHweunler 5.Qur.c. Sramrs.

Find the HCF of 23 and 12.

U@ - 11 / PART - III

@il : sremeuCuigyd 10 elaésEnéE ol walésayn. elam eer 42 -&@

sL_Lmwwns eleLwell&sa)b.

Note : Answer any 10 questions. Question No. 42 is compulsory.

29,

10x5=50

A={xeN|1<x<4)}, B={xeW|0=x<2}  wpmibd  C={reN|x<3} aafle,

Ax (BUC) = (A X B)U(AXC) eramang FflLmiésajib.

Let A={xeN|1<x<4)}, B={xe W|0<x<2} and C={xeN|x<3}. Then verify that

Ax (BUC) = (A X B)u(A X C).
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A={0,1,2,3) womw B=(1,3,5,7,9} eremuer @@ GGG arens,. [:A->D GTEID By
f(@)=2x+1 erend Qar®asLu(Harang. @)aamilamand Garemr(

(i) SbYSGEH UL (ii) 2L Guenea
(iii) ouflenss Cemysafler gemrd  (iv) QuenyULID
< Slwueuperns GMlEsa|n

Let A={0, 1, 2, 3} and B=(1, 3, 5, 7, 9) be two sets. Let f:A—B be a function given by
f(x)=2x+1. Represent this function

(i) by arrow diagram (ii) in a table form
(iii) as a set of ordered pairs (iv) in a graphical form
aHzo srems @ 9+103+.......... 213

Find the sum of ®+103+.......... 213

64x* —16x> +17x2 = 2x +1 GrEILISEN QUIESPOLD STErTs.

Find the square root of 64x*—1623+17x2—2x+1.

3 1 o
A=l g 5 erafled, A2—5A+71,=0 eran Hmieys.

3 1
= 2 —
If A [_1 2:| show that A SA+71,=0.

Caaav Commsems erpd HlpAéseyb.

State and prove Thales Theorem.
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i N ~ 22 wpmis (1, -3 ol yereflgsenar qpenanaaTTas ClsmeammL
,DWDW?J@G“T UTUenusd snames,

Find the area of quadrilatera] whose vertices are at (=9, —2), (-8, —4), (2, 2) and (1, —3).

A(_.‘l' 2). LODID B(6, ~4) erémy yarafseen Beens@nd @wwds @55 66aT g6
FLORTUTLENL & STemrs.

gi(:d lh;) equation of the perpendicular bisector of the line joining the points A(—4, 2) and

0 sLudsa satsor dasssfa o usshsdab sLdd LD
deldlempear. @m suusadmbs somsor dlasssdar 2 &dlen gnné
Camemmuiser wepGuw 30° LOMID 45° @b, somsamr elasssder e wrb 200 5
aalle, Q@ sLudsEnés Qe Cu 2 drer Qgrevamed srams. (3 =1.732)

Two ships are sailing in the sea on either sides of a lighthouse. The angle of elevation of the
top of the lighthouse as observed from the ships are 30° and 45° respectively. If the lighthouse

1s 200 m high, find the distance between the two ships. (/3 =1.732)

45 Q&8 e wyepeter @ QeLsaamLsdlen Q@ LD < rasd wpeopGu 28 Qs.i8
wHm 7 @5 erafle), QL ssamLSdlen Gam SjeTemeus STews.

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm, find the

volume of the frustum.

6 Q5.5 yyid wHmD 15 Qg8 2wy Aerar_ em Cpi el o mener 6ulg.6uL)
UTSETD (PYEIGILONS veflégalp (Ice-cream) 2 drarg). SibsL Leflésaprang), siby
wHmb SieysGarand Gaahs aitagdld Briuiu@dpsg. suoer o wpb 9 Q.8
wpmb <y 3 Q.18 aafld, ursdrsde o dar ualémeap Aroiu agsmans
galbLger Coeney 7

A right circular cylindrical cont'ainer' of base radius 6 cm and height 15 cm is full of
ice-cream. The ice-cream is to be filled in cones of height 9 cm and base radius 3 cm, having

a hemispherical cap. Find the number of cones needed to empty the container.

7722
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24, 26, 33, 37, 29, 31 yAwapler LIYUTL PG AFHYMES STETS.

Find the coefficient of variation of 24, 26, 33, 37, 29, 31.

@ran® us@Lsa g Gap emlLuuddapar s usoLdd s UL
@rlenLl UL T SO (P& wHliLsailen saBge 8 -256 HaLLFDSTe
Planssmeus Erams.

Two dice are rolled once. Find the probability of getting an even number on the first die or

the total of face sum 8.

7+T7+ 777 + oo, 1D QUi cuflensufen n 2 muyseflen sa(pge STams.

Find the sum to n terms of the series 7+ 77+ 777 + .ccvuevvrnes

L@ - IV | PART - IV

GOILY : Syewensg eflanmss@EnsEn e weléaa. 2x8=16

Note : Answer all the questions.

43.

(=1) PQ=45 Q&.15, |R =35 wpmid 258 R -9allpbs euenpuiinl L pHEGCsT i én
Bemid RG=6 Q.15 eram jepwowjommy APQR euanys.
LTV

()6 Q&5 Al petar aulLib arpg el Lidlen emwvwsSadmig 8 Qs.i8
Qzrevaedle P eram yaraflanws @hlésay. Siuyerafllelmbg) PA whmib
PB eramp Q@ GsmHCaT0S6T uwrpgl Sieupdlen Semiisemer iered@s.

(2) ~Construct a APQR which the base PQ=4.5 cm, |R = 35° and the median RG from R to
PQ is 6 cm.

OR

(b) Draw a circle of diameter 6 cm. from a point P, which is 8 cm. away from its centre.
Draw the two tangents PA and PB to the circle and measure their lengths,
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g8 () ¥=22"-3x-5 -Gy auen

: ; TULLD cuerhg), is@a Lwau@ss 2x?—4x—6=0
CTEND FWeTU g & bgl, B

&&GLD.
SI6V6V
() xy=24,x, y > 0 GT &1 UMTUL GG UaTE. QUaTLLSMSLI LweTuH &S,
@) x=3crafle y -85 Frems,
(i)  y=6erafleh x RS HrTSE.
(a) Draw the graph of y=212—3y_5 and hence solve 22— 4x—6=0.

OR
(b) Draw the graph of Xy=24, x, y > 0. Using the graph find,
() v when x=3 and
(i) x when y=6,

-00o0-
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